A. Doplň správný tvar slovesa být: am, are nebo is.

1.  I ………….. a woman.
2.  You …………… my brother.
3.  He ………….. tall.
4.  They ……………… from the USA.
5.  We ………… at school.
6.  It …………. my car.
7.  Jane ………… my sister.
8.  We ………….. people.
9.  I ………… a boy.
10. He ………. a teacher.

B. Převeď věty do záporu (NE). Použij stažené tvary.

1. ……………………………………………………………………
2. ……………………………………………………………………
3. ……………………………………………………………………
4. ……………………………………………………………………
5. ……………………………………………………………………
6. ……………………………………………………………………
7. ……………………………………………………………………
8. ……………………………………………………………………
9. ……………………………………………………………………
10. …………………………………………………………………..








ŘEŠENÍ:
A. Doplň správný tvar slovesa být: am, are nebo is.
1.  I am  a woman.
2.  You are my brother.
3.  He is tall.
4.  They are from the USA.
5.  We are at school.
6.  It is my car.
7.  Jane is my sister.
8.  We are people.
9.  I am a boy.
10. He is a teacher.

B. Převeď věty ze cvičení A do záporu (NE). Použij stažené tvary.

1. I’m not a woman.
2. You aren’t my brother.
3. He isn’t tall.
4. They aren’t from the USA.
5. We aren’t at school.
6. It isn’t my car.
7. Jane isn’t my sister.
8. We aren’t people.
9. I’m not a boy.
10. He isn’t a teacher.


